

Soliton solutions of the generalized sinh-Gordon equation by the binary (G'/G) -expansion method

A NEIRAMEH

Department of Mathematics, Faculty of Sciences, ~~University of Gonbad, Kavooos~~ Gonbad, Iran
E-mail: a.neirameh@gonbad.ac.ir

MS received 4 March 2014; revised 19 June 2014; accepted 28 July 2014

DOI: 10.1007/s12043-014-0896-1; ePublication: 26 June 2015

Abstract. The aim of this paper is to extend the applications of (G'/G) -expansion method to solve a generalized sinh-Gordon equation. In fact, the binary (G'/G) -expansion method is introduced for finding different new exact solutions. It is shown that this method is a powerful mathematical tool for solving nonlinear evolution equations with time-dependent coefficients in mathematical physics.

Keywords. Binary (G'/G) -expansion method; generalized sinh-Gordon equation; exact solutions.

PACS Nos 02.30.Jr; 05.45.Yv

1. Introduction

Phenomena in physics and other fields are often described by nonlinear evolution equations. When we want to understand the physical mechanism of phenomena in nature, which are described by nonlinear evolution equations, exact solutions for the nonlinear evolution equations have to be explored. For example, the wave phenomena observed in fluid dynamics, plasma and elastic media, and optical fibres, etc. Thus, the methods for deriving exact solutions for the governing equations have to be developed. Recently, many powerful methods have been established and improved. Some of these methods include the inverse scattering method [1], Darboux transform [2], Hirota bilinear method [3], Painlevé expansion method [4], Bäcklund transformation method [5], tanh-function method [6], homogeneous balance method [7], Jacobi elliptic function expansion method [8], sub-ODE method [9], F-expansion method [10], sine-cosine function method [11] and the exp-function method [12]. Wazwaz [13] studied the following generalized sinh-Gordon equation:

$$u_{tt} - au_{xx} + b \sinh(nu) = 0, \quad (1)$$

where a, b are two constants and n is a positive integer. In this work, the aim is to augment the previous works in [13,14], and obtain new exact solutions of eq. (1), including double periodic wave solutions.

The sinh-Gordon equation is one of the essential nonlinear equations in mathematics and physics. Therefore, it is important to find solutions for this equation. This equation arises as a special case of the Toda lattice equation, a well-known soliton equation in one space and one time dimension, which can be used to model the interaction of neighbouring particles of equal mass in a lattice formation with a crystal. The sinh-Gordon equation has many applications in other branches of nonlinear science. One application of the sinh-Gordon equation is that it can be used to describe the generic properties of string dynamics for strings and multistrings in constant curvature space. Another application of the sinh-Gordon equation is in the field of thermodynamics, where it can be applied to calculate partition and correlation functions precisely.

2. Algorithm of the binary (G'/G)-expansion method

For a given nonlinear partial differential equation

$$\varphi(g(u), u_x, u_t, u_{xx}, u_{tt}, u_{xt}, \dots) = 0, \tag{2}$$

where $g(u)$ is a composite function which is similar to $\sin(nu)$ or $\sinh(nu)$ etc. The (G'/G)-expansion method is simply represented as follows:

We make a transformation

$$u = \phi \left(\frac{U(\xi)}{V(\eta)} \right), \tag{3}$$

where $\xi = \lambda_1(x + c_1t)$, $\eta = \lambda_2(x + c_2t)$, and $\lambda_1, \lambda_2, c_1, c_2$ are unknown parameters which are to be determined. Substituting (3) into (2), yields

$$\varphi(U, U', U'', \dots, V, V', V'', \dots) = 0. \tag{4}$$

On some constraint conditions, if eq. (4) can be differentiated as

$$U'^2 = P_1 + Q_1U^2 + R_1U^4, \tag{5}$$

$$V'^2 = P_2 + Q_2V^2 + R_2V^4, \tag{6}$$

where $P_1, Q_1, R_1, P_2, Q_2, R_2$ are some parameters. Then, suppose that the solution of ODEs (5) and (6) can be expressed by a polynomial in G'/G as follows:

$$u(\xi) = \alpha_m \left(\frac{G'}{G} \right)^m + \alpha_{m-1} \left(\frac{G'}{G} \right)^{m-1} + \dots + \alpha_0, \tag{7}$$

where $G = G(\xi)$ satisfies the second-order LODE in the form

$$G'' + \lambda G' + \mu G = 0, \tag{8}$$

α_m, \dots, λ and μ are constants to be determined and $\alpha_m \neq 0$. The positive integer m can be determined by considering the homogeneous balance between the highest-order derivatives and nonlinear terms appearing in ODE (3).

By substituting (7) into eqs (5) and (6) and using the second-order linear ODE (8), collecting all terms with the same order of G'/G together, the left-hand side of eqs (5) and (6) are converted into another polynomial in G'/G . Equating each coefficient of this polynomial to zero yields a set of algebraic equations for α_m, \dots, λ and μ .

Assume that the constants α_m, \dots, λ and μ can be obtained by solving the above algebraic equations. As the general solutions of the second-order LODE (8) are well known, substituting α_m, \dots, v and the general solutions of eq. (8) into (7) we have more travelling wave solutions of the nonlinear evolution eq. (1).

3. Application to the generalized sinh-Gordon equation

First, consider the following transformation:

$$\xi = \lambda(x + ct), \quad \eta = \lambda \left(x + \frac{a}{c}t \right), \quad a \neq c^2, \tag{9}$$

where λ, c are two parameters to be determined. Under the transformation (9) eq. (1) can be rewritten as

$$\lambda^2 c^2 (c^2 - a) u_{\xi\xi} + \lambda^2 a (a - c^2) u_{\eta\eta} + bc^2 \sinh(nu) = 0. \tag{10}$$

By means of a similar ansatz as given in [15,16], letting

$$u = \frac{4}{n} \tanh^{-1} \left(\frac{U(\xi)}{V(\eta)} \right) \tag{11}$$

for eq. (10), yields

$$\begin{aligned} \lambda^2 c^2 (c^2 - a) (U^2 - V^2) \frac{U_{\xi\xi}}{U} - 2U_{\xi}^2 + \lambda^2 a (a - c^2) (V^2 - U^2) \frac{U_{\eta\eta}}{U} \\ - 2U_{\eta}^2 u_{\eta\eta} = nbc^2 (U^2 + V^2). \end{aligned} \tag{12}$$

Successive differentiation of the above equation with respect to both ξ and η results in

$$\frac{c^2}{UU_{\xi}} \left(\frac{U_{\xi\xi}}{U} \right)_{\xi} - \frac{a}{VV_{\eta}} \left(\frac{V_{\eta\eta}}{V} \right)_{\eta} = 0, \tag{13}$$

and from (13), one has

$$\frac{c^2}{UU_{\xi}} \left(\frac{U_{\xi\xi}}{U} \right)_{\xi} = \frac{a}{VV_{\eta}} \left(\frac{V_{\eta\eta}}{V} \right)_{\eta} = \omega, \tag{14}$$

where ω is a parameter to be determined and by integrating eq. (14) we have

$$U_{\xi}^2 = \frac{\omega}{4c^2} U^4 + \mu_1 U^2 + v_1, \tag{15}$$

$$V_{\eta}^2 = \frac{\omega}{4a} V^4 + \mu_2 V^2 + v_2, \tag{16}$$

where $\mu_1, \nu_1, \mu_2, \nu_2$ are integral constants. Considering (12), (15) and (16) we have the corresponding constraint conditions:

$$\lambda^2 c^2 (c^2 - a) \mu_1 + \lambda^2 a (a - c^2) \mu_2 + nbc^2 = 0, \quad c^2 \nu_1 - a\nu_2 = 0. \quad (17)$$

Next, we study eqs (15) and (16) under the conditions of (G'/G) -expansion method [17].

Considering the homogeneous balance between highest-order derivatives and nonlinear terms in (15) and (16) we get $n = 1$ and $m = 1$. Consequently, we have

$$U(\xi) = \alpha_1 \left(\frac{G'}{G} \right) + \alpha_0, \quad \alpha_1 \neq 0, \quad (18)$$

$$V(\xi) = \beta_1 \left(\frac{G'}{G} \right) + \beta_0, \quad \beta_1 \neq 0. \quad (19)$$

On substituting (18) and (19) into (15) and (16), collecting all terms with the same powers of (G'/G) and setting each coefficient to zero, we obtain the following system of algebraic equations:

$$\begin{aligned} \frac{\omega}{4c^2} (\alpha_0^4) + \mu_1 \alpha_0^2 - \mu^2 \alpha_1^2 + \nu_1 &= 0, \\ \frac{\omega}{4c^2} (4\alpha_1 \alpha_0^3) + 2\mu_1 \alpha_1 \alpha_0 - 2\alpha_1^2 \lambda \mu &= 0, \\ \frac{\omega}{4c^2} (6\alpha_1^2 \alpha_0^2) + \mu_1 \alpha_1^2 - (\alpha_1^2 \lambda^2 + 2\mu \alpha_1^2) &= 0, \\ \frac{\omega}{4c^2} (4\alpha_1^3 \alpha_0) - 2\alpha_1^2 \lambda &= 0, \\ \frac{\omega}{4c^2} \alpha_1^4 - \alpha_1^2 &= 0 \end{aligned} \quad (20)$$

and

$$\begin{aligned} \frac{\omega}{4a} (\beta_0^4) + \mu_2 \beta_0^2 - \mu^2 \beta_1^2 + \nu_2 &= 0, \\ \frac{\omega}{4a} (4\beta_1 \beta_0^3) + 2\mu_2 \beta_1 \beta_0 - 2\beta_1^2 \lambda \mu &= 0, \\ \frac{\omega}{4a} (6\beta_1^2 \beta_0^2) + \mu_2 \beta_1^2 - (\beta_1^2 \lambda^2 + 2\mu \beta_1^2) &= 0, \\ \frac{\omega}{4a} (4\beta_1^3 \alpha_0) - 2\beta_1^2 \lambda &= 0, \\ \frac{\omega}{4a} \beta_1^4 - \beta_1^2 &= 0. \end{aligned} \quad (21)$$

On solving the algebraic eqs (20) and (21) by using the *Maple*, we get

$$\alpha_1 = \pm \frac{2c\sqrt{\omega}}{\omega}, \quad \alpha_0 = \pm \frac{\lambda c\sqrt{\omega}}{\omega}, \quad c = \pm \sqrt{\frac{4\omega\nu_1}{16\mu^2 - 4\mu_1\lambda^2 - \lambda^2}}, \quad (22)$$

$$\beta_1 = \pm 2\sqrt{\frac{a}{\omega}}, \quad \beta_0 = \pm \frac{\lambda\sqrt{a\omega}}{\omega}, \quad a = -\frac{4\nu_2\omega}{\lambda^4 + 4\mu_2\lambda^2 - 16\mu^2}, \quad (23)$$

$$\lambda = \pm \frac{\sqrt{-(c^4\mu_1 - c^2\mu_1a + a^2\mu_2 - a\mu_2c^2)abc}}{c^4\mu_1 - c^2\mu_1a + a^2\mu_2 - a\mu_2c^2}, \quad (24)$$

$$\mu = \pm \frac{1}{4} \frac{\sqrt{(v_1^2 - v_2^2)(-4\mu_1v_2^2 + 4v_1^2\mu_2 + \lambda^2v_1^2 - v_2^2)\lambda}}{v_1^2 - v_2^2}. \quad (25)$$

By solving eq. (8), we deduce after some reduction that [18]

$$\begin{aligned} \frac{G'}{G} &= \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \times \left(\frac{C_1 \sinh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi + C_2 \cosh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi}{C_1 \cosh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi + C_2 \sinh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi} \right) \\ &\quad - \frac{\lambda}{2}, \end{aligned} \quad (26)$$

where A and B are arbitrary constants.

On substituting (22)–(26) into (18)–(19), along with (11) we deduce the following traveling wave solutions:

Case 1. When $\lambda^2 - 4\mu > 0$, then we have

$$\begin{aligned} U &= \pm \frac{\sqrt{\omega}(\lambda^2 - 4\mu)}{\omega} \\ &\quad \times \left(\frac{A_1 \sinh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \xi + A_2 \cosh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \xi}{A_1 \cosh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \xi + A_2 \sinh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \xi} \right), \\ V &= \pm (\lambda^2 - 4\mu) \sqrt{\frac{a}{\omega}} \\ &\quad \times \left(\frac{A_1 \sinh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \eta + A_2 \cosh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \eta}{A_1 \cosh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \eta + A_2 \sinh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \eta} \right) \\ &\quad \mp \lambda \sqrt{\frac{a}{\omega}} \pm \frac{\lambda \sqrt{a\omega}}{\omega}. \end{aligned}$$

So we have

$$u_1 = \frac{4}{n}$$

$$\times \tanh^{-1} \left(\frac{\pm \frac{\sqrt{\omega}(\lambda^2 - 4\mu)}{\omega} \left(\frac{A_1 \sinh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \xi + A_2 \cosh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \xi}{A_1 \cosh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \xi + A_2 \sinh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \xi} \right)}{\pm (\lambda^2 - 4\mu) \sqrt{\frac{a}{\omega}} \left(\frac{A_1 \sinh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \eta + A_2 \cosh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \eta}{A_1 \cosh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \eta + A_2 \sinh \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \eta} \right) \mp \lambda \sqrt{\frac{a}{\omega}} \pm \frac{\lambda \sqrt{a\omega}}{\omega}} \right),$$

where

$$\xi = \lambda \left(x \pm \sqrt{\frac{4\omega v_1}{16\mu^2 - 4\mu_1\lambda^2 - \lambda^2}} t \right), \quad \eta = \lambda \left(x - \frac{4v_2\omega}{\lambda^4 + 4\mu_2\lambda^2 - 16\mu^2} t \right).$$

Case 2. When $\lambda^2 - 4\mu > 0$, then we have

$$u_2 = \frac{4}{n} \times \tanh^{-1} \left(\frac{\pm \frac{\sqrt{\omega}(4\mu - \lambda^2)}{\omega} \left(\frac{A_1 \sin \frac{1}{2} \sqrt{(4\mu - \lambda^2)} \xi + A_2 \cos \frac{1}{2} \sqrt{(4\mu - \lambda^2)} \xi}{A_1 \cos \frac{1}{2} \sqrt{(4\mu - \lambda^2)} \xi + A_2 \sin \frac{1}{2} \sqrt{(4\mu - \lambda^2)} \xi} \right)}{\pm (4\mu - \lambda^2) \sqrt{\frac{a}{\omega}} \left(\frac{A_1 \sin \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \eta + A_2 \cos \frac{1}{2} \sqrt{(\lambda^2 - 4\mu)} \eta}{A_1 \cos \frac{1}{2} \sqrt{(4\mu - \lambda^2)} \eta + A_2 \sin \frac{1}{2} \sqrt{(4\mu - \lambda^2)} \eta} \right) \mp \lambda \sqrt{\frac{a}{\omega}} \pm \frac{\lambda \sqrt{a\omega}}{\omega}} \right).$$

Case 3. When $\lambda^2 - 4\mu = 0$, then we have

$$u_3 = \frac{4}{n} \tanh^{-1} \left(\frac{\pm \frac{2c\sqrt{\omega}}{\omega} \left(\frac{A_2}{A_1 + A_2 \xi} \right) \pm \frac{\lambda c \sqrt{\omega}}{\omega}}{\pm 2\sqrt{\frac{a}{\omega}} \left(\frac{A_2}{A_1 + A_2 \eta} \right) \pm \frac{\lambda \sqrt{a\omega}}{\omega}} \right).$$

When the parameters are given special values, the solitary waves are derived from the travelling waves. In particular, if $A_1 \neq 0, A_2 = 0, \lambda > 0, \mu = 0, u_1$ will be

$$u_1 = \frac{4}{n} \tanh^{-1} \left(\frac{\pm \frac{\lambda \sqrt{\omega}}{\omega} (\tanh \frac{1}{2} \lambda \xi)}{\pm \lambda \sqrt{\frac{a}{\omega}} (\tanh \frac{1}{2} \lambda \eta) \mp \sqrt{\frac{a}{\omega}} \pm \frac{\sqrt{a\omega}}{\omega}} \right),$$

$$\xi = \lambda \left(x \pm \sqrt{\frac{4\omega v_1}{16\mu^2 - 4\mu_1 \lambda^2 - \lambda^2}} t \right), \quad \eta = \lambda \left(x - \frac{\frac{4v_2 \omega}{\lambda^4 + 4\mu_2 \lambda^2 - 16\mu^2}}{\sqrt{\frac{4\omega v_1}{16\mu^2 - 4\mu_1 \lambda^2 - \lambda^2}}} t \right),$$

where

$$\lambda = \pm \frac{\sqrt{-(c^4 \mu_1 - c^2 \mu_1 a + a^2 \mu_2 - a \mu_2 c^2) n b c}}{c^4 \mu_1 - c^2 \mu_1 a + a^2 \mu_2 - a \mu_2 c^2},$$

$$\mu = \pm \frac{1}{4} \frac{\sqrt{(v_1^2 - v_2^2)(-4\mu_1 v_2^2 + 4v_1^2 \mu_2 + \lambda^2 v_1^2 - v_2^2)} \lambda}{v_1^2 - v_2^2}$$

λ and μ satisfy in all the above cases.

4. Conclusion

In this paper, we successfully constructed the new exact travelling wave solutions by introducing the binary (G'/G)-expansion method and obtained new exact solutions of a generalized sinh-Gordon equation. This method is reliable and effective and gives more solutions. This method has more advantages. It is direct and concise. The proposed method in this paper can also be extended to solve some NLPDEs in mathematical physics.

References

- [1] M J Ablowitz and P A Clarkson, *Solitons, nonlinear evolution equations and inverse scattering* (Cambridge University Press, Cambridge, 1991)
- [2] V B Matveev and M A Salle, *Darboux transformation and solitons* (Springer, Berlin, 1991)
- [3] R Hirota and J Satsuma, *Phys. Lett. A* **85**, 407 (1981)
- [4] J Weiss, M Tabor and G Carnevale, *J. Math. Phys.* **24**, 522 (1983)
- [5] R M Miura, *Backlund transformation* (Springer, Berlin, 1978)
- [6] E G Fan, *Phys. Lett. A* **277**, 212 (2000)
- [7] M L Wang, Y B Zhou and Z B Li, *Phys. Lett. A* **216**, 67 (1996)
- [8] S K Liu *et al*, *Phys. Lett. A* **289**, 69 (2001)
- [9] J L Zhang, M L Wang and X Z Li, *Phys. Lett. A* **357**, 188 (2006)
- [10] M L Wang and X Z Li, *Chaos, Solitons and Fractals* **24**, 1257 (2005)
- [11] A M Wazwaz, *Appl. Math. Comput.* **150**, 365 (2004)
- [12] A M Wazwaz, *Nonlinear Dyn.* **52**, 1 (2008)
- [13] A M Wazwaz, *Chaos, Solitons and Fractals* **28**, 127 (2006)
- [14] Y N Tang, W Xu, J W Shen and L Gao, *Commun. Nonlinear Sci. Numer. Simul.* **13**, 1048 (2008)
- [15] G L Lamb Jr, *Elements of soliton theory* (Wiley, New York, 1980)
- [16] P G Drazin and R S Johnson, *Solitons: An introduction* (Cambridge University Press, New York, 1989)
- [17] E M E Zayed and Khaled A Gepreel, *Appl. Math. Comput.* **212**, 1 (2009)
- [18] M L Wang, X Z Li and J L Zhang, *Phys. Lett. A* **372**, 417 (2008)